

1) $a^m \cdot a^n = a^{m+n}$
 $\frac{a^m}{a^n} = a^{m-n}$
 2) $a^{\frac{1}{n}} = \sqrt[n]{a}$
 3) $a^{\frac{1}{m}} \cdot a^{\frac{1}{n}} = a^{\frac{1}{m} + \frac{1}{n}}$
 4) $(a^m)^n = a^{m \cdot n}$
 5) $a^0 = 1 \quad a \neq 0$
 6) $a^{-n} = \left(\frac{1}{a}\right)^n = \frac{1}{a^n} \quad a \neq 0$
 7) $a^m \cdot b^m = (ab)^m \quad \sqrt[m]{a} \cdot \sqrt[m]{b} = \sqrt[m]{ab}$
 8) $\frac{a^m}{a^n} = \left(\frac{a}{b}\right)^m$
 9) $a^1 = a$
 10) $(-a)^n = -a^n$ (if n is odd)
 11) $(-a)^n = a^n$ (if n is even)
 12) $0^a = 0$ (if a > 0)
 13) $0^0 = 1$
 $6^{14} + 6^{14} + 6^{14} + 6^{14} + 6^{14} = 5 \cdot 6^{14}$
 $6 \cdot 6^{14} = 6^{15}$
 14) $a^{\frac{1}{n}} = \sqrt[n]{a}$
 15) $\sqrt[n]{a^m} = a^{\frac{m}{n}}$ and $\sqrt[n]{a^m} = \sqrt[m]{a^{\frac{n}{m}}}$
 $\sqrt[3]{8} = 2$ and $\sqrt[3]{8} = \sqrt[2]{4}$
 $\sqrt[3]{27} = 3$ and $\sqrt[3]{27} = \sqrt[3]{27}$

2.24 i) $\sqrt[4]{3} + \sqrt[4]{48} + \sqrt[4]{243}$
 $= \sqrt[4]{3} + \sqrt[4]{3 \cdot 2^4} + \sqrt[4]{3^4} =$
 $\sqrt[4]{3} + \sqrt[4]{3} \cdot 2 + \sqrt[4]{3} \cdot 3 =$
 $= 6\sqrt[4]{3}$

$243 : 3 = 81$
 $81 : 3 = 27$
 $27 : 3 = 9$
 $9 : 3 = 3$
 $3 : 3 = 1$

$81 = (3^4)^2 = (3^2)^4 = 9^4$

2.28 h) $\sqrt[3]{10 \cdot 18 \cdot 50 \cdot 2^2} + \sqrt[3]{2} =$
 $\sqrt[3]{2 \cdot 5 \cdot 2 \cdot 3 \cdot 5 \cdot 2 \cdot 5 \cdot 2} + \sqrt[3]{2} =$
 $\sqrt[3]{2^4 \cdot 3 \cdot 5^2} + \sqrt[3]{2} = 2 \cdot \sqrt[3]{2} + \sqrt[3]{2} = 3\sqrt[3]{2}$

WIE PAN WIT
 $\sqrt[3]{-a} = -\sqrt[3]{a}$
 WIE PAN WIT
 $\sqrt[3]{a} = \sqrt[3]{a}$

2.13 - 2.32

